09 Grammar L7 Answers

Lesson Conversation (Kanji Edition)
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5 and £
nw) BRXAIE &EFE (05) RFLE

Tanaka-san wa nagoya (kara) kimashita.
Mr. Tanaka came from Nagoya.

1] HrELIE Zoxz @RXA () EFFLEA,

Watashi wa kono hon o Nishimura-san (ni) agemashita.
I gave this book to Ms. Nishimura.

(2] bl &2 (1) BUILE,
Watashi wa densha (kara) orimashita.
I got off the train.
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6BFIIAIC EBET RRIT T3FEF, 68 (XT) IoT0ET,
Roku-ji-han ni densha de Tokyo ni ikimasu. Roku-ji (made) matte imasu.
(I) am going to Tokyo by train at 6:30. (I) am waiting until 6.

(4] 5B, 12825 6BFIT FEL%FF. 68 (£T) LWZALLTT,
Kyo, jani-ji kara roku-ji made hatarakimasu. Roku-ji made isogashii desu.
Today, (1) work from 12 until 6. (I) am busy until 6.

5] 7AUH(B) RILI
Amerika (kara) kimashita.
() came from America.

(6] ®BERXAIE bELI(XY) EPC BLYET,

Tanaka-san wa watashi (yori) hayaku hashirimasu.
Ms. Tanaka runs faster than me.

=% and 9%

N1 BRIAE FHLOLULITEDY FLESEDT WP LBYFEL,
Nishimura-san wa atarashii shigoto ga hajimatta node isogashiku narimashita.
Mr. Nishimura started his new job, so (he) got busy.

1] zZonL—l3 25B=VTT, (LT (FXu,
Kono kare wa tsumetai desu. Atsuku shite kudasai.
This curry is cold. Make it hot, please.

(2] U —XAN REKRT S—=T4—13 BBELA BYFLI.
Sha-san ga kita ato de patii wa omoshiroku narimashita.
After Mr. Shah came, the party got interesting.

(3] TXEA RTWBEOT, LTEMZ LT (EIWN,
Kodomo ga nete iru node, shizuka ni shite kudasai.
The kids are asleep, so be quiet, please.

A Td7nr-0 BAREIE LEFIT RYFLEA,
“Anata no Nihongo wa jozu ni narimashita ne.”
“Your Japanese got better.”

B vz, vwnwi, 72 TFTHL)
“lie, iie, mada heta desu yo. ”
“No, no, (it) is still bad.”

(5] 2= 3= TETNEL IZONAHN IIEXPM BYFELE,
Supa ga dekite kara kono hen ga nigiyaka ni narimashita.
After (they) opened the supermarket, this area became noisier.

(6] I7—=XA13 K& FBOEKT, PIrIvVnIT RYFL,
Mira-san wa hono kaita ato de, yimei ni narimashita.
After Mr. Miller wrote a book, (he) became famous.
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HELDO a—b—Il3 OO LS5E=DT, HrLnwa—kt—% DY FLT=,
Watashi no kohii wa tsumetaku natta node, atarashii kohii o tsukurimashita.
My coffee got cold, so (I) made new coffee.

HrELD 2=V I HSEDOT, RELT  (EX0,
Watashi no satsu wa chiisaku natta node, okikushite kudasai.
My suit got smaller, so please make (it) bigger.

gilc , 7T and TH'S
Part 1
NV 1) @5 /Dl L2l — RKEFNT 3% a3 xFL-,

@ neru / @ ha o migaku — neru mae ni ha o migakimashita.
@ to sleep / @ to brush one’s teeth — Before (I) went to sleep, (I) brushed (my) teeth.

N 2) OIFATIEA /O ELBIZ EHFE 5
— TATIEAD #%BT ryEHIZ |EE LFIL,
@ bangohan / @ tomodachi ni denwa o suru
— bangohan no ato de tomodachi ni denwa o shimashita
@ dinner / @ to call (one's) friend — After dinner, (1) called (my) friend.

1] DIFATIEA/OLLFEY 33 > IFATIEAD #T LlFw LIELE,

@ bangohan / @ shukudai suru — Bangohan no ato de shukudai shimashita.
@ dinner / @ to do homework — After dinner, (I) did (my) homework.

2] @UxId/Or¥E U< — YxIHD HIT A¥E UEILEA
@ ryoko / @ kaze o hiku — Ryoké no mae ni kaze o hikimashita.
@ trip / @ to catch a cold — Before the trip, (I) caught a cold.

3] @O3%M BAHEE “AXrIT3/@BFIC K
@ san-nen-kan Nihongo o benky 6 suru / @ Nihon ni iku
@ to study Japanese for 3 years / @ to go to Japan

— 3FM BARFEE ~NAXr) LT HAFIZ T3FLr
San-nen-kan Nihongo o benkyo shita ato de Nihon ni ikimashita.
After (1) studied Japanese for 3 years, (1) went to Japan.

(4] @uwziz S /ONZFLD Kb — Wzlz OLENT 2EY hFEL,

@ ie ni tsuku / @ kazoku ga neru — le ni tsuku mae ni kazoku ga nemashita.

@ to arrive home / @ family sleeps — Before (I) arrived home, (my) family went to bed.

(5] OB%3/0%90F3 - BEXEHBT 25LLFELE,
@ okiru / @ soji suru — Okita ato de s6ji shimashita.
@ to wake up / @ to clean — After (I) woke up, (I) cleaned (the house).




Grammar L7 Answers

(6] OBEEXAN k5/@BEHIAIC BEEZ T3
® Tanaka-san ga kuru / @ Nishimura-san ni denwa o suru
@ Mr. Tanaka comes / @ to call Ms. Nishimura

— HPIAN REHRT BHIAIL FFE LIl
Tanaka-san ga kita ato de Nishimura-san ni denwa o shimashita.
After Mr. Tanaka came, (1) called Ms. Nishimura.

OLIY /@iwnE R3 — LIXOKRT Zupz BRIl
@ shigoto / @ eiga o miru — Shigoto no ato de eiga o mimashita.
@© work / @ to watch movies — After work, (I) watched a movie.

OFT7% HU5/O~PlE L A3
@ doa o akeru / @ heya wa samuku naru
@ to open a door / @ the room becomes cold

— F7% HIER ~PIE 3L BUFELA
Doa o aketa ato heya wa samuku narimashita.
After (I) opened the door, the room got cold.

Part 2

) N 35/ I3 Aol DK
beru ga naru / Mira-san wa gakko ni tsuku
the bell rings / Mr. Miller arrived at the school

= N BoTHE IT7—AE AHoITHIT DEF L,
Beru ga natte kara Mira-san wa gakko ni tsukimashita.
Right after the bell rang, Mr. Miller arrived at the school.

1] 23 BB/ THISE - $253 HoThs ErdELE,
akaruku naru / dekakeru — Akaruku natte kara dekakemashita.
to get bright / to go out — Right after (it) got bright, (I) went out.

2] x53% EY)/EBRIZ 03 - 253% BoUnb EBID OUILE,
kippu o kau / densha ni noru — Kippu o katte kara densha ni norimashita.
to buy a ticket / to get on a train — Right after (I) bought a ticket, (I) got on the train.

3] 25529708 BbE/BLIC = 2598 Bbhonh BLIE¥ELE,

gakko ga owaru / oyogu — Gakko ga owatte kara oyogimashita.

school finishes / to swim — Right after school finished, (I) went swimming.

4] BEHRIALTE ANB/EFTE Lok

Nishimura-san wa hairu / doa o shimeru
Ms. Nishimura enters / to close a door

= BRIAEE ATHE FT7% LIl

Nishimura-san wa haitte kara doa o shimemashita.
Right after Ms. Nishimura entered (the room), (she) closed the door.
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GH5 and &F

NN WDE XJANY b v/ woh (FUE RE
itsumo kibun ga warui / itsumo kusuri o nomu
always feel unwell / always take medicine

= XJAN bBVWEE o3l (FUE REIET,
Kibun ga warui toki itsumo kusuri o nomimasu.
When (I) feel unwell, (I) always take medicine.

NW2) L3¥x S57% 975 /%25LF 5,
tokidoki uta o utau / s6ji suru
sometimes (I) sing a song / (I) clean
—> YEVYE SR HEVWEAS ZH5LLFET,
Tokidoki uta o utainagara so6ji shimasu.
Sometimes (I) sing a song while (I) clean.

(1] bl E—x RO/ BRIAG TLET Rf—vz B3
watashi wa biiru 0 nomu / otosan terebi de supotsu o miru
I drink beer / my father watches sports on TV

— bl FE—-ILE RELELE BRIATLET AF—v% RIlr,
Watashi wa biiru o nomu toki otosan terebi de supotsu o mimashita.
I drank beer while my father watched sports on TV.

(2] x3Ebr HBL/ET - rEELY BEEANL HELILE,
tomodachi to aruku / hanasu — Tomodachi to arukinagara hanashimashita.
(D) walk with (my) friend / (I) talk — (I) walked with my friend while (we) talked.

3] I—E-T% ®KEL/FHLFELLID, — I—E—TH KHENS FHFLIID,

kohii demo nomu / machimasho ka. — Kohii demo nominagara machimasho ka.

(D) even drink coffee / shall we wait — Let’s drink coffee while (we) wait.

4] wEILIE A/ WZRIT 2ZE - LwEIKIE RERAS Wil Mz ELE,
imoto wa naku / ieni kaeru — Imo6to wa nakinagara ie ni kaerimashita.

My younger sister cries / (she) returns home — My younger sister cried while (she) returned home.

(5] $2{/ATHhE O0bRVT (X0,
aruku / sumaho o tsukawanaide kudasai.
to walk / not to use smartphone, please.

= HEILNL  ARERE O»DHLWNT (XN,
Arukinagara sumaho o tsukawanaide kudasai.
Don’t walk while using (your) smartphone please.

(6] brLIE X /EFIT BIC — LT XBorsx EFiz BIXFLA,

watashi wa kodomo/jozu ni oyogu — Watashi wa kodomo no toki jozu ni oyogimashita.
I was a child / swim well — When I was a child, (I) swam well.
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Broviy F&£/&#B NAZ21H753
ototo wa gakusei / mai-nichi benky6 suru
My younger brother was a student / (he) studied every day

— Bririd FEOXE HH NAZIILILI
Ototo wa gakusei no toki mai-nichi benky6 shimashita.
When my younger brother was a student, (he) studied every day.

L2/ A% HhEN — LIA2BLE KE HRLEVTT
shizuka / hon o yomitai — Shizuka na toki hon o yomitai desu.
quiet / (I) want to read book(s) — When (it) is quiet, (I) want to read books.

RAN W/l DlFE - KA wanwex iz olFYFET,

tenki ga ii / yama ni noboru — Tenki ga ii toki yama ni noborimasu.

weather is good / (I) climb mountains — When the weather is good, (I) climb mountains.

WZIZ AB /(D% HRNTEIN
ie ni hairu / kutsu o nuide kudasai
enter the house / take off shoes please

= WZIT ABEE (D% RWTLEIWN,
le ni hairu toki kutsu o nuide kudasai.
When (you) enter the house, take off (vour) shoes, please.

Adverbs

MW FWTE 9% woE FAXID HFVwET,

Daisuki na uta o itsu mo genki ni utaimasu.
(I) always sing (my) favorite song energetically.

ZORIE HFOTITNL, ZVEDIT AT (FE30n,
Kono hon wa furui desu kara, taisetsu ni yonde kudasai.
This book is old, so read (it) carefully.

ZXEN RNTHBEDT, LENIT LT (73w,
Kodomo ga nete iru node, shizuka ni shite kudasai.
The children are sleeping, so please be quiet.

wEHrlx E7/% EFIC UEIT
Imoto wa piano o jozu ni hikimasu.
My younger sister can play the piano well.

bLD  HRE B THOEWT (X0,
Watashi no ane o waruku iwanaide kudasai.
Don’t speak badly about my older sister, please.
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(5] ®EEIAE THLIZ bELOKEIE KEC ExFIL
Tanaka-san wa tegami ni watashi no namae o okiku kakimashita.
Mr. Tanaka wrote my name on the letter in big letters.

(6] 4RBIE »¥r Sk BxIT
Kyo wa kaze ga tsuyoku fukimasu.
The wind is strong today.

JLPT-Style Questions

1] 2uXx (BroY) RBiz BbUELr,
Kaigi wa (chodo) roku-ji ni owarimashita.
The meeting finished right at 6.

1 E-579¢ 2 FAEA 35198 4 brok

massugu dandan chodo chotto

The correct answer is #3-B5 &S5 &,

We use the adverb % k9 ¥ - ‘just’ with amounts of things (time, money, etc.) so it is the best fit in
this sentence.

Other Answers

¥ 59 < - The adverb ¥-57 < means ‘straight’ as in ‘straight ahead.’ It is usually used to describe
something that is physically straight.

IoFC AT-T KXW,

Massugu itte kudasai.
Go straight, please.

12/ 72 A - The adverb 72 A 72 A means ‘gradually’ and is typically used to describe some kind of
change.

HPIAIX FAEA JL{E-sTwWET,
Tanaka-san wa dandan yoku natte imasu.
Mr. Tanaka is gradually getting better.

5 Lo ¥ - The adverb % ;- ¥ means ‘short’ or ‘somewhat.’ It usually refers to a short period of time.

Lio¥ FoTULEXN,

Chotto matte kudasai.
Wait a little, please.

(2] par (AR HD00nFElLi,
Kami o (zenbu) tsukaimashita.
(D) used all the paper.

1T A 2 TZV0WNA 3 HFY 4 XT3

zenbu taihen amari totemo
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The correct answer is #1-tHA 3.

The adverb ¥A 3% means ‘entire’ or ‘whole’, as in to do something completely.

Other Answers

7=\WNA - We usually use 7=\ "\A to talk about a tough or difficult situation. Using the paper is
probably not going to be a tough situation.

SH bIELIE oA WEXFLWTT,

Kyo watashi wa taihen isogashii desu.
Today, I was terribly busy.

HZF) - The adverb H F 1) is most often used with negative forms of verbs.
BARZEZ HIY NAZIIHLIEA

Nihongo o amari benkyo shimasen.
(I) don’t study Japanese very much.

¥ TH - ¥TH is used to talk about the degree of some adjective typically.
ETCH WENoTT,

Totemo itakatta desu.
(It) was very painful.

=

LwrE-old (xx¥x) dL7% LET,
Shimatsu wa (tokidoki) gorufu o shimasu.
(I) sometimes play golf on weekends.

1 ¥EYX 2 9 3 FAEA 4 I=\\NA
tokidoki mo dandan taihen

The correct answer is #1- & EEEFE .

¥ X¥Y'% is an adverb of frequency that means ‘sometimes.” None of the other answers make sense in
the above sentence.

Other Answers

£ - The % particle is used to mean ‘again’ in English and is usually followed with an amount.

E—L%z  Fiusidn (X,
Biiru o mo ippai kudasai.
Another beer, please. (lit., beer again one cupful please.)

7ZA T2 A — The adverb 7= A /= A means ‘gradually’ and is typically used to describe some kind of
change. We are not talking about a change in the above sentence, so it cannot be used.

HPIAE FEAEA B ThET,
Tanaka-san wa dandan yoku natte imasu.
Mr. Tanaka is gradually getting better.
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7=\WNA — We usually use 7=\ 3"\A to talk about a tough or difficult situation. Playing golf is
probably not a tough situation.

2B bHELIE EFuNA WEFLWTT,
Kyo watashi wa taihen isogashii desu.
Today, I was terribly busy.

(4] #iz Ber  (FI(3A) MFET

Kuruma ni okane o (takusan) kakemasu.
Cars take a lot of money.

1 BBEWV 2 =KX A 3 =0WNA 4 HFE)

ozei takusan taihen amari

The correct answer is #2- T Th .

We can use 7={ XA to talk about the amount of something. Here we are talking about the amount
of money being used.

Other Answers

BBEW - BBE is usually used for large crowds of people, not for things like money.

ABRIZIZ  AEAD BBEN WET,
Osaka ni wa gaikokujin ga 6zei imasu.
There are a lot of foreigners in Osaka.

7ZWWNA — We usually use 7z\ZN\A to talk about a tough or difficult situation.

2B bHELIE EFuNA WEFLWTT,
Kyo watashi wa taihen isogashii desu.
Today, I was terribly busy.

HF1) - The adverb H F 1) is most often used with negative forms of verbs.

BAEZEEZ HIY NAZIILIEA.
Nihongo o amari benkyo shimasen.
() don’t study Japanese very much.

(5] $XAE (F234) RBROVTLEI,
Nakagawa-san wa (tabun) konai desho.
Ms. Nakagawa probably won't come.

1 ¥T% 2 bxrH¥ 3 =34 4 7=\WNA
totemo chodo tabun taihen

The correct answer is #3-f= A .

You can see TL k7 at the end of the sentence, which means we are making a supposition or guess
about the future. That makes an adverb of certainty like /=34 the best choice.
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Other Answers

¥ TH - ¥ TH is typically used to talk about the degree of some adjective.

¥TH WENSETT,
Totemo itakatta desu.
(It) was very painful.

5 19 ¥ —You can use % 9 ¥ to talk about an exact amount of something (e.g. time, money, etc.).
In the sentence above we are making a supposition and not talking about amounts so it does not fit
above.

LEIAE brirblly BLULETT,
Yamada-san wa chodo watashi to onaji toshi desu.
Mr. Yamada is just the same age as me.

7=\WN A — We usually use /=\3"\A to talk about a tough or difficult situation.

S8 brELIE oA WERLWTT,
Kyo watashi wa taihen isogashii desu.
Today, I was terribly busy.

(6] A TWIXRIT ZXEN BOVTHWEDOT, DEIFAT BETHWFLEA]
“Yube wa kodomo ga naite ita no de, hito-ban-chu okite imashita.”
“Last night, (my) kids were crying, so (I) was awake all night.”

B lTZ#id (7zv\A) Tl

“Sore wa (taihen) deshita ne.”
“That was terrible, right?”

1 17529 2 TmWONA 3 HASN 4 iUk
kekko taihen zenbu chotto

The correct answer is #2—-TeWLMA .

It sounds like Speaker A had a terrible night, so the best answer is 7=\ \\NA, .

Other Answers

17529 - To increase the degree of something you can use |75 Z7. It has a similar meaning to ‘quite
in English.
2Bl e HoIIDINnTTA,

Kyo wa kaze ga kekko tsuyoi desu ne.
Today, the wind is quite strong, isn’t it?

’

A3 - HA S can mean ‘totally’ or ‘completely’ and is usually used with a verb, not by itself.

BTLz HAS BXFLA,
Osushi o zenbu tabemashita.
(I) ate all the sushi.
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5t oY - The adverb 5 - ¥ means ‘short’ or ‘somewhat’. It usually refers to a short period of time.

Lok FoTULEXW,

Chotto matte kudasai.
Wait a moment, please.

b=LIE (£Y) 12rwn TR HUFT
Watashi wa (mo) ni-kai tesuto ga arimasu.
I have two more tests.

1 Bl 2 9 3 2TH 4 5%
chotto mo totemo motto

The correct answer is #2-%5 .

The adverb ¥ 7 , meaning ‘again,” is often used with the number of times, often times with the
counters 2\ (kai) and ¥ (do), which both mean ‘times an action has occurred’.

Other Answers

5 oY - The adverb 6 k5 ¥ means ‘short’ or ‘somewhat.” It usually refers to a short period of time.

Lok FoTULEXW,

Chotto matte kudasai.
Wait a little, please.

Y TH - ¥ TH is typically used to talk about the degree of some adjective.

YTEH WEN-SETT,
Totemo itakatta desu.
(It) was very painful.

¥ -5¥ — Whereas 9 is used to talk about more times, £ - ¥ is used to talk about more of
something, so it can’t be used in the sentence above.

Ho¥t RE(LTCEZW,

Motto okiku shite kudasai.
Bigger/louder, please.

brLIE Brkyiz YrIHILENTT,
Watashi wa rondon ni ryoko shitai desu.
I want to take a trip to London.

(TH), bl gryrked X50TT,
(Demo), tomodachi wa rondon ga kirai desu.
But, (my) friends hate London.

[ 2 T 3 ZnTid 4 =5

sore ni demo sore dewa dakara
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The correct answer is #2- C% .

The two sentences are in contrast to each other. One says that the speaker wants to go to London.
The next sentence contrasts that by saying that the speaker’s friends hate London. The best choice is

T% because it shows contrast.

Other Answers

Z#HUZ - You can use <412 to add similar information to a previous statement. It can’t be used for
contrasting statements.

HRIAT HEEYUD vy VE XT WElL/,
Tanaka-san wa midori no shatsu o kite imashita.
Ms. Tanaka was wearing a green shirt.

ZHnIT AZUD 13HLE MI-oThFE LT
Sore ni midori no boshi o kabutte imashita.
Moreover, (she) was wearing a green hat.

ZMNTIlI - ZMNTII can be used to change the topic in a conversation or to refocus one’s attention
on something. Since the two sentences above are on the same topic, we can’t use this here.

ZNTIT B&wzE H—FK FWT (E30,
Sore dewa onamae o kado ni kaite kudasai.
Now then, write (your) name on the card, please.

7=/ 5 — If you are giving a lengthy reason for something, you can use 7=7°5 to show the result.
You can think of it as ‘That’s why’ in English.

2H VWWRRATY, 26, 2IZAN  JAIRIT TXE0TT,
Kyo ii tenki desu. Dakara, koen e sanpo ni ikitai desu.
It’s nice out today. That’s why (I) want to go for a walk in the park.

(9] 2WXlx BHroY 1z BULTVET
Kaigi wa chodo ichi-ji ni hajimarimasu.
The meeting starts at exactly 1:00.

(L2L), WTXAE F7£ UV3TIFAZ BRXTHWIHEA,

(Shikashi), Yamashita-san wa mada hirugohan o tabete imasen.
However, Ms. Yamashita hasn't eaten lunch yet.

1 LT 2 N5 3 ENHN56 4 L»2L
soshite kara sore kara shikashi

The correct answer is #4- LH L .

These two sentences contrast with each other. The first says the meeting starts at exactly 1. The
second sentence says poor Ms. Yamashita hasn’t eaten, so it is probably not the best time for the
meeting.
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Other Answers

% LT - The conjunction Z LT can be used to link two similar sentences together.

BAEZ LI d., 2LTC BRI FATOLIT
Nihongo o hanashimasu. Soshite, Nihon ni sunde imasu.
(D) speak Japanese, and live in Japan.

M5 - You can use 7'5 to show the reason for something. It is very similar to ‘so’ in English.

SRIE EnNAWEDRLWLWY S, HFY ErTERA,
Kongetsu wa taihen isogashii kara, amari dekakemasen.
This month (I) have been terribly busy, so (I) haven’t gone out much.

TN 5 - You can use £#A'5 to link two sentences together chronologically. Generally speaking,
both sentences need to have some kind of action in them.

3%z HAEFIL7, 2hnb, RIELE

Ha o migakimashita. Sore kara, nemashita.
() brushed my teeth. And then, (I) went to bed.

BEr» wWEw(6) HEY BRNFIEATLE
Onaka ga itai (kara) amari tabemasen deshita.
(My) stomach hurts, so (I) didn’t eat much.
T L»a»L 2 N 3 2056 4 M5
shikashi ga dakara kara

The correct answer is #4-H5 .

Through the process of elimination we can see that »'5 is the best answer. L' and 7' are used
to show contrasts, and the sentences are not contrasting each other. /2/*%5 cannot be used in the
middle of such a sentence like this unless the previous word is a 7 -adjective or noun.

Other Answers

L2 L and 7' - These two conjunctions show contrast, so we can’t use them here.

7275 - The conjunction /=225 cannot be used mid-sentence if the word proceeding it is an
U -adjective.

1] 4BiE, 68T BXT LT DIF-T 48T 22-T 88HI BIE #Ka
L7 (Enb) 2hhzll,
Kyo wa, roku-ji ni okite yama ni nobotte yon-ji ni kaette hachi-ji ni osake o nomimashita. (dakara)
tsukaremashita.

Today, (I) woke up at 6, climbed a mountain, came home at 4, and drank alcohol at 8. That’s
why I'm tired.

1 ZhiZ 2 N5 3 05 4 Ln2L
sore ni kara dakara shikashi
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The correct answer is #3-f2h'5 .

The first sentence gives us a very lengthy reason for why the speaker is tired. So, 7=/*5 is the best

answer here.

Other Answers

Z#HUZ - You can use <412 to add similar information to a previous statement. It can’t be used for

contrasting statements.

HRIAT HEEYD vy VE XT WElL/,
Tanaka-san wa midori no shatsu o kite imashita.
Ms. Tanaka was wearing a green shirt.

ZHIZ AHRY¥YD 1TIHILE »SE-oTWELE,
Sore ni midori no boshi o kabutte imashita.
Moreover, (she) was wearing a green hat.

M5 - You can use H'5 to show the reason for something. It is very similar to ‘so’ in English.

SRIE FONAWEDRLVLDS, HFEY BT TOEEA,
Kongetsu wa taihen isogashii kara, amari dekakete imasen.
This month (I) have been terribly busy, so (I) haven’t gone out much.

L/» L - We can use the conjunction L7/'L to show contrasts between two sentences. Since the
sentences don’t contrast, it doesn’t make sense to use it here.

FLOTLED 1ZLWTT, L, B&r »HYEEA.
Atarashii terebi ga hoshii desu. Shikashi, okane ga arimasen.
(I) want a new TV. However, (I) don’t have money.

2] A T5BIX % LFELED]
“Ky6 wa nani o shimashita ka.”
“What did (you) do today?”

B Ib/=LIE HAECELFEFLE, (ZLT0), #HlT ZH5LZE2LFEL=

“Watashi wa sentaku o shimashita. (soshite), ane wa soji o shimashita.”
“I did the laundry. And, my older sister cleaned.”

1 Zhic 2 ZNTIL 3 =06 4 2L T

sore ni sore dewa dakara soshite

The correct answer is #4-Z LT .

We want to link together two sentences with a similar topic here — cleaning. So, the best answer is <

LC.
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Other Answers

ZMIUZ - You can use £ 412 to add similar information to a previous statement. It can’t be used for
contrasting statements.

HPIAIZ AXYD vy yE  XT WIlr,
Tanaka-san wa midori no shatsu o kite imashita.
Ms. Tanaka was wearing a green shirt.

Zhiz A2y 1X2HLE M3I->ThWELE,
Sore ni midori no boshi o kabutte imashita.
Moreover, (she) was wearing a green hat.

ZMN Tl - €M TII can be used to change the topic in a conversation or to refocus one’s attention
on something. Since the two sentences above are on the same topic, we can’t use this here.

ZNTIE BL&wE 7—FIT FWT (FEIun,
Sore dewa onamae o kado ni kaite kudasai.
Now then, write (your) name on the card, please.

NG - 2005 is used to show the reason for something. It’s highly unlikely that the reason the
speaker’s older sister is cleaning is because the speaker did the laundry at least without more context.

@ A THE#EIZT YOTULED.]
“Kyoto wa do deshita ka.”
“How was Kyoto?”

B /=025 TF, Bbex WMLILE, (ZN5H), @EN BELWHoIC
L7, ]

“Tanoshikatta desu. Ocha o nomimashita. (Sorekara), Shijo e kaimono ni ikimashita.”
“(It) was fun. (I) drank tea. (And then), (I) went shopping in Shijo.”

N

=
(4
M

1 TIlX 2 L2l 305 4 ZTnrb
dewa shikashi kara sore kara

The correct answer is #4- ZhbH 5 .

We want to show a chronological sequence of events in the two sentences. First, the speaker drank
tea. Then, the speaker went shopping. The best answer is Z#)5 .

Other Answers

Tld - You can use Tld to change the topic of conversation or to refocus the listener’s attention on
something. Since the two sentences are on the same topic, we can’t use this here.

L2 L — We can use the conjunction L/'L to show contrasts between two sentences. Since the
sentences don’t contrast, it doesn’t make sense to use it here.

FLOTLED 1ZLWTY, LaL, &8 »HUIEA,
Atarashii terebi ga hoshii desu. Shikashi, okane ga arimasen.
(I) want a new TV. However, (I) don’t have money.
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M5 - You can use /5 to show the reason for something. It is very similar to ‘so’ in English.

SR EONAWZERLWLAYS, HFEY BT TOEEA
Kongetsu wa taihen isogashii kara, amari dekakete imasen.
This month (I) have been terribly busy, so (I) haven’t gone out much.

A T8 Kuh HE0TTH, ]
“Naze kibun ga warui desu ka.”
“Why do you feel unwell?”

B lTx2x2¥, 4$BIX, E¥Y =—Zor »nonR—=r —o% HXFL, (FHI2),
T—F% Zo% RBNFIL,]
“Eto, kyé wa, piza futatsu to hanbagu hitotsu o tabemashita. (Sore ni), kéki futatsu o

tabemashita.”
“Well, today, (I) ate two pizzas and a hamburg steak. Moreover, (I) ate two cakes.”

1T £NTIX 2 b 3 T 4 Znic

sore dewa dakara demo sore ni

The correct answer is #4— Zhlc .

The second sentence is adding more information to the first sentence, so the best answer here is <
#L1Z (sore ni, moreover).

Other Answers

ZMNTIE - €N TIT can be used to change the topic in a conversation or to refocus one’s attention
on something. Since the two sentences above are on the same topic, we can’t use this here.
ZNTIE B&wE H—FRIz FEVWT (X0,

Sore dewa onamae o kado ni kaite kudasai.
Now then, write (your) name on the card, please.

=5 - If you are giving a lengthy reason for something, you can use 7=/*5 to show the result.
You can think of it as ‘“That’s why’ in English.

SH VOLRATTY, 256, TIZAN  ZAIXIT TXEWTT,
Kyo ii tenki desu. Dakara, koen e sanpo ni ikitai desu.
It’s nice out today. That’s why (I) want to go for a walk in the park.

T#H - Youcan use T¥H and LHL to show a contrast between two ideas or sentences, but the
sentences above do not contrast with each other. Here is an example using T% .

BWHDIZ T3FL7/z, TH, [ EBLIEATL
Kaimono ni ikimashita. Demo, nani mo kaimasen deshita.
(I) went shopping. But, (I) didn’t buy anything.

[15] a—kt—% KHILE (D)., BbHeld KRHEEFEATLE,
Kohii o nomimashita (ga), ocha wa nomimasen deshita.
(I) drank coffee, but (I) didn’t drink tea.

T 226 2 ZThic 3 056 4 N

sore kara sore ni kara ga
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The correct answer is #4-hH'.

Using 7' mid-sentence like this can show a contrast or weak connection between the two clauses.
In the sentence above, we are using 7' to show a contrast.

Other Answers

TN 5 - You can use £#A'5 to link two sentences together chronologically. Generally speaking,
both sentences need to have some kind of action in them.

3%z HAEFIL7, Z2hnb, RIEL

Ha o migakimashita. Sore kara, nemashita.
() brushed my teeth. And then, (I) went to bed.

ZMIUZ - You can use Z#1IZ to add similar information to a previous statement. It can’t be used for
contrasting statements.

HEXAZ AV vyVE X,

Tanaka-san wa midori no shatsu o kite.
Ms. Tanaka was wearing a green shirt.

Zhiz Ay 1XHLE M3I->ThWELE,
Sore ni midori no boshi o kabutte imashita.
Moreover, (she) was wearing a green hat.

=75 —If you are giving a lengthy reason for something, you can use /=75 to show the result.
You can think of it as ‘That’s why’ in English. It can’t normally be used after verbs in polite form.

SH WOWRRATT, 26, TIZAN  IAXIC T%1-=0WTT,

Kyo ii tenki desu. Dakara, koen e sanpo ni ikitai desu.
It’s nice out today. That’s why (I) want to go for a walk in the park.

X% (DFTIZ) 32t kF T,
Haru (no mae ni) fuyu ga kimasu.
Before spring, winter comes.

1 DRI 2 DKRT 3 HIIC 4 $%T
no mae ni no ato de mae ni ato de

The correct answer is #1- Mgyl .

This is really just a question about form. And when using BJIZ or 42T and a noun, like |35 (haru,
spring) we need to use the @ particle.

Other Answers

AIZ and 12T - If we use a noun before §JIZ or 2T, we need the ¢ particle, so these two answers
are invalid.

MD1& T - The last time I checked, winter does not come after spring.
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IDIHEE X5 (RN BALILT (FE30,
Kono uwagi o kiru (mae ni) sentaku shite kudasai.
Before (you) wear this jacket, wash (it) please.

1 mlic 2 12T 3 DT 4 DRETIZ
mae ni ato de no ato de no mae ni

The correct answer is #1- gijlc .

This is a question about the form of the conjunctions ATlZ and 44T . When you use them after a
clause in Japanese, they don’t require the @ particle. If you use a noun before 14T or §JIZ, you
need to use the @ particle.

Other Answers

MD1%T and DRETIZ - These are both in the wrong form. You cannot use the @ particle after a clause

before #JIZ or 44T in a sentence like the one above.

12T - Since the clause is in non-past form, and not past form, we cannot use 12 . All clauses
before 14T are in past form.

TlLeE%x R-%T $BIFL-.
Terebi o mita ato de nemashita.
After (I) watched TV, (I) went to bed.

MWE (DRT) Wz »ZVET
Kaigi (no ato de) ie ni kaerimasu.
After the meeting, (I) returned home.

1 1T T 2 DT 3 44T 4 1T
ni ato de no ato de ato de na ato de

The correct answer is #2- DET.

Pay attention to the form we use with £ . The word »'\ X is a noun, so we should use the ®
particle which we place in front of % T.

Other Answers

IZ42C and 7242 T — The only particle that normally goes before {4 T is the @ particle, so these are
invalid.

12T - This would be possible if there was a clause with a past tense verb in front of £, but we
have a noun, so we cannot use {2 C without the ® particle.

(a7=12T) WA=IZ TUETL,
(Neta ato de) genki ni narimasu yo.
After I slept (I) got more energized.

1 Xa%44 T 2 RABENIC 3 Wa/=14T 4 =TI
neru ato de neru mae ni neta ato de neta mae ni
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The correct answer is #3- 1= T .

This question is about form, specifically how to use BJIZ and 2T . The verb that goes before & T
needs to always be in the past tense. And it doesn’t make any sense that you had a lot of energy

before going to sleep, so ¥7=42 T is the best answer.

Other Answers

#¥a51% T - This is in the wrong form, so it is invalid.

1A% H[IC and #a7=8[IC - It doesn’t make much sense that the speaker had energy before going to
bed. Also, the past tense is very rarely used before RJIC .

VI FB(2B) BUEYET,
Ryoko wa nan nichi (kara) hajimarimasu ka.
What day does (your) trip start?

1 T 2 12% 305 4 TIlX
made ni mo kara de wa

The correct answer is #3-H'5 .

The speaker is asking about the start of the trip, so it makes sense that we use 75 (from).

Other Answers

¥ T - We use the £ T particle to mark an end point in time or space. Since we are talking about
the start of the trip, it doesn’t make sense to ask about the end point.
N—=T4—1F 9BLTTT,

Patii wa kyud-ji made desu.
The party is until 9.

IZ% - Although you could use the [T particle to mark the start of a trip, the combination of the |Z
and ¥ particles doesn’t make sense. We usually use this structure in a negative sentence to mean
‘nothing, nowhere, etc.’

Ericy pWEHATL -,
Dare ni mo aimasen deshita.
(D) didn’t meet anyone.

Tld - You can use Tld to change the topic of conversation or to refocus the listener’s attention on
something. Since the two sentences are on the same topic, we can’t use this here.

21] ZIRXA TAVH (BB) RILIE,
Sumisu-san wa Amerika (kara) kimashita.
Mr. Smith came from America.

1 12\ 2 F¥TIC 3 Tl 4 N5
ni e made ni dewa kara
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The correct answer is #4- H5 .

We usually talk about coming from a place, so 7'5 is the best answer here.

Other Answers

[Z™ — You could use the (I particle here or the ~\ particle, but you can’t use both.

F TIZ - Placing the T particle after £ T changes its meaning slightly. Instead of meaning ‘until,’
F TIZ means ‘by.” And that doesn’t make sense in the sentence here.

Tld — The T particle marks the tool or method one uses to do an action. That is not the case here,
so we cannot use this combination here.

N

BR(ET) Wwolxiz T3FEAD,
Eki (made) issho ni ikimasen ka.
Will (you) go as far as the station with (me)?

1T HN 2 Tl 305 4 FT
mo e de wa kara made

The correct answer is #4- ¥ .

We want to talk about traveling to a place, so we can use the |2, N\, or £ T particles. -\ is an
incorrect form, so we can’t use that. That leaves us with just answer 4.

Other Answers

£\ — This is an incorrect form, so we cannot use it.

Tl - The T particle is used to mark the way or the tool we use to do an action. Since &R (eki,
train station) is not either, we cannot use this answer.

M5 —The 5 particle marks the start point or source of something.

LTkl 98N 5TT,
Shigoto wa kyu-ji kara desu.
Work is from 9.

L& (FT) iz wWELED,
Ima (made) doko ni imashita ka.
Until now, where were (you)?

1 1z 2 b 3 ¥°T 4 DRETIZ
ni kara made no mae ni

The correct answer is #3-% .

We can assume the listener was somewhere else before the speaker asked the question above, because

the speaker probably knows where the listener is now since he is talking to them. That makes % T
the best answer.
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Other Answers

|Z - If we use the [T particle in the sentence above, it means we are talking about right now. The
speaker probably knows where the listener is right now, so this doesn’t make sense.

M5 — We can’t use "5 because 57'5 would be talking about the future and the sentence is in
the past tense.

DAETIZ — We cannot say 5 D®JIZ, so this answer is not possible either.

#’)f:[,li (#Qiif)“‘:))\ j"% g%%‘i[/f:o
Watashi wa (nenagara), hon o yomimashita.
While (I) was lying in bed, (1) read a book.
1T s 2 ATWBLE 3 RELN5 4 NIEHNH
neta toki nete iru toki neru nagara nenagara

The correct answer is #4- REHS .

The main task is ‘lying in the bed’, while the secondary task is ‘reading a book’. ¥ X is usually used
to describe a time frame or situation when something occurred, and not to describe two actions
happening at the same time. Answer 3 is in an incorrect form.

Other Answers

ta=¥ % and ¥aC\\% ¥ X - These are incorrect because they use ¥ %, which is used to describe a
time frame in which something occurs.
b=LIE ZXBDrEx, RE (IA @AhILE,

Watashi wa kodomo no toki, hon o takusan yomimashita.
I read a lot of books when I was young.

#A5%72 /%5 — This is an incorrect form.

25| 16X (DrX) HhET YARF TLED,
Juroku-sai (no toki) anata wa donna ko deshita ka.
When (you) were 16, what kind of kid were you?

1 O 2 DX 3 ¢% 4 wric
nomae ni no toki toki mae ni

The correct answer is #2- D& F .

Much like 42 C and ®JIZ , we should use the ® particle with a noun before ¥ % . We can’t use §JiZ
because we are talking about a specific time and not a certain time before now.

Other Answers

DRTIZ and FJIZ — We can use RJIZ to talk about a time relative to now. For example, we can talk
about 16 years before now. But, when talking about periods of time we need to use 5 (nen, year)
and not XU\ (sai), which is used to count a person’s age.

¥ % — We need to use the @ particle with this answer because of the noun 16 X\ before ¥ % .



